6.1 Solving Two Step Equations
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Name: Ble-ck.

k) SOLVING TWO ST€P £QUATIONS:

Example #2: Solve each equation. Check your
solution by substituting into the original equation and
seeing if the left side equals the right side of the
equation.
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B) TRANSLATING ENILiISH TO MATHEMATIOS

means
Complete the table below by filling in the English words that imply each oper: mon

Addition Subtraction " d "

e som of.... " “...addeddo ‘eSS Hhan.. ! decreased bog ..

" increased bco' more hen - AINUS

/ quchaent= an:‘w&m
Multiplication Division e =
L hwaes .‘.'-~" N e groc\uc.-(-—o()' “Half ol nd & nomiec'—= R
“Twice - Yoo rcent O-P v e cLuo-\-uuf\"‘C'Q +wo -
e~ o

“pouble ... ? R {UO"‘UU\'\'A o numies and oo —eZ

Understanding the English to math translation will help to set up equations when given word .

problems. 2 nom S TN G YO

u.x eq.V\2 >

Exam[gles +'—\ /J\ 5 L‘Z, % q, o

A. 1 {mg \g— B. ’3 less than\4 timesa->C_ | C. Find 3 consecufive o) | x+2
-num-beﬂs 16. What is the rumber is 20, What is the integers such that sum of
umber?— — \(, number? =<© . two times the smallest numoer
! QOS and three times the largest \\y wioe.,
-\ _is 76. What are the
- 5- o numbers?
2 XM _ tah
- -y i muS“‘M’I(
) Yx =23 Ax + >(x+3)=76 A olvecied
= 12 o = G tes
3 axX +Ix+b =1k ?;C)—OKG
@ e \(ou can
. solve For X
Cnec cwack’

5(3‘3121, o Hx -5= 26 w27 3y
mcnc.ﬁ 16153220 X, X+) X8
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Werite an equation and solve the equation.

84. A number is multiplied by
- ~(negative two and then

decreased by five and the |

result is fwenty-nine. Find

numberand three is

the number.

the number.
-9 -5=4 2% +35=-33
r5 45 -3 -3
-2x= 54 ?pc='30
—9\ ,;z
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1 85. The sum of three timesaY’ ' 86. Three times the opposite

negative twenty-seven. Find |

of a positive number —~ -
increased by five is &5

negative twenty-five. Find

the number.

2 +5=-25
-5 -5
'37(, -30

”.7 '3



I. A husband is two years
older than his wife, and
their son is half the age of
his mother. If the sum of
all three of their ages is
97, how old is the son?

e
wmo d‘}w@ 6‘[‘

X+(x+2]+-éx:97

. A board 70 cm in length

is cut into two pieces.
Once piece is 8 cm
shorter than three times
the length of the other
piece. Find the length of

the two nieces.
Let the length of the shorter piece be x.
The the length of the longer piece is 3x — &,

15 and

The sum ol’ﬂhree
consecutive even integers
is 43. Find the three

mtegers
-y
ﬁr (x+2)+(x£4)+13 =143
3x +19 =43
3x+19—(19) =43 —(19)

+k-8=70 _
%x+2=97 :;-s_-?n :fx_M 1
Sx+2-(2)=97-(2) r-8+(8) =70 +(8) (3x)(3) = (24)(3)
%x=95 dx =78 8
, x_ T8 HA=E
(32)(3) = s)(3) iy r2 44
& _a 194 The three integers are: 8, 10, and 12.

9,  Translate ea(.h verbal sentence into an equation. ( C\O(\ -\-— \/\O\\It '\'0 fo‘UC,)

a) The sum ofa-aie%er and three is twelve.
AtD= 1

xd
¢) The product of a.m%—:r and five is twice
the number plus eight.

S5 = XL+
e) The quotient of a number and five is seven.

ER

b) Iftwice a..n.u&:r is decreased by five, the result is
fifteen.
RAA-D=15

d) The quotient ofa—nuﬁr and three added to twice
the number is ten. 5~

— +o2c=10

3
f) The sum of a.n%b&r and three times the number is
twelve.
L+ I3IL= 1L

0) SOLVING TWO STP EQUATIONS WiTH FRAOTIONS:

Method 1:
STEP 1
STEP 2

Solution

.
/7/ﬁ sl
Add or subtract the fraction fo get the term containing the variable isolated

Then multiply or divide to solve for x.

Check
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Solution Check

=

8]
p—
w

E =< ulZ:L -2
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Method 2: You may prefer to work with integers than to perform operations \a;tﬁ fra/ctions. ! '
Change firom fractions to integers by multiplying by a common multiple of the denominators
in the equation. L’D LCM /[_CD

Solution Check
/ @\ﬂb \curest
1 comman 1
a ( +i-4 ) mudhiple s Z+I=y
2 B i aauncd 2 3 S
[ b. x| = \ (\() 6 - U
(Grtpie 3.) LY L+ 0o \
%4—%: K 0.5 + 25 - L\
+ Ax =24 H -4 Vv’
- - —-5 ‘
%’i‘. lx=2. 1.5
[ PRACTICE - 2 (=2
Solution Check
\;\" / N N \
a 2 1.3 'ZU?M g 2,.1_3
3976730 ) ruel 3reta
3 } -
l??)_G_L;B.-I> 2 \ 3(
= .=x v ~R) -7 =4 (A
\ < !\J‘b ! )u 3 ( o 4q
y 4 X _ 30 3] | __b
6\ ('/'j p— 2 72 Y 2 o Y
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Use the method of our chulce from above to solve the following equations: vb
x+l_L Lol
3 m et > "
= -a=5
- 3.1 EE x + A + @
1_ 7 \xa4 x 1 7 \Xxa4
¢ + 4= = =—ar
) 6= 124 D g-6="22
\ :
2t J),
+ ¢
,14 3
x” 1.—-5 7 \* 12 X2
=4 =1 X X
Nit3=12 Dl e+5="7
D) SOLVING TWO STEP EQUATIONS WiTH DRGIMALS: 6.4 = 71—0/
STEP ()  Multiply both sides of the equation by the LCD (lowest common denominator) to '
Climinate any decimals. 0.04 = Tope—
STEP 2 Then multiply or divide to solve for x. o. 004 = ¢

1000&—

Solution Check

0.04x = 0.8
0.0l (ac) = O-%

o.% = C)%\/

[ PRacTicE - |
Solutio e n% “70 Check
NN 10
b. (3-Zy—9-§=16 3.2y —9.6 =16
= -9, Vo
10(3a)-10(4.L) = 10(\o) é/ff@ b =
%&,-%,:WO w;l(a
¥ *Q(o 1 = 16 v

22
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b) 0.4x = 0.08 ) 21y—28=56 L g 04y+17=-3y

¢ 0.Ix+0.0lx = 0.11 d) 0.2x+0.22x = 0.84 i h) 12y=-10.05-3.75

£) PEROLRNT:

1060
“Percent” means 0()'\— O'Q \(I) . Therefore, when we are converting percents to
decimalswe _AiuvA e Ve \OO
9

Warm Up: Change each percent to a decimal

a) 51% | b)_Sﬁ% c) 6.75/0 d) 0.1%
=51<100= 0.5 =005 Y!.oo00% o\ .
2 0= 00> 5520067 2o = 000

Example: Solve and check.

a) 25%0fa-n-u§ben 8. What is the number?
25/ I ? '60

(a5 x =% " = %
a a
b) 7% ofa-aumbcrls 56.7. What is the number?

A =5L3
V1.« =90-F

(_t_ < =563
VOO
o0.03x =263

g

o

Iz

"

« 100

Required Exfra Practice Extension
mﬂ@m“.’@ #1,2aceg, 3,4,  # 2bdfh, 6, 7, 9, 17,18

5, 8,10, 11, 13, 14, 12, 16, 19bc

Assignment #6.1 pg 213 - 215 15, 19a
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